HYUerraHD

ASSEMBLY INSTRUCTIONS

UltraHD Wall Cabinet (Model No. 20230)
36in. W X 12in. D X 30in. H
(91.44cm W X 30.48cm D X 76.2cm H)

ULTRAGUARD"®

FINGERPRINT RESISTANT SURFACES
AND INCREASED DURABILITY

Reference pagd0 for special care and
maintenance of stainless steel

TR151216







PARTS LIS{y2 of 10

Please check the parts carefully according to the parts list. If you are missing any parts, please contact our
customer service department. (Please refer to page 10 of 10)

RECOMMENDED TOOL LIST

STUD FINDER

LEVEL

TRIANGULAR SQUARE

PART LIST

N

(#1) LEFT PANEL x 1 PC

(#2) RIGHT PANEL x 1 PC

(#3) TOP PANEL x 1 PC

(#4) MIDDLE LAYER PANEL x 1 PC




PARTS LIS{; 3 0f10)

Please check the parts carefully according to the parts list. If you are missing any parts, please contact our
customer service department. (Please refer to page 10 of 10)

(#5) BOTTOM PANEL x 1 PC (#6) MIDDLE SHELF x 1 PC

(#7) UPPER BACK PANEL x 1 PC (#8) BOTTOM BACK PANEL x 1 PC

(#11) WALL-HANGING BRACKET X 2PCS #34 HOOK X 4 PCS




PARTS LIST, 40 10)

Please check the parts carefully according to the parts list. If you are missing any parts, please contact our
customer service department. (Please refer to page 10 of 10)

(=

(#22) KEY x 2 PCS (#23) MAGNET x 2 PCS

(#21) SCREW DRIVER x 1 PC (#15) SCREW B (M4 x 8L) x 6 PCS

(

(#41) SCREW F (M4 x 8L) x 44 PCS (#55) SCREW M (M6 x 50L) x 12 PCS

(#59) PLASTIC ANCHOR x 12 PCS




ASSEMBLY INSTRUCTIQJ\&%HO)
UltraHD Wall Cabinet (Model No. 20230)

TIP:A magnetic screwdriver is included for your
convenience. If a power screwdriver is used,
keep on a low torque setting.

Step 1:nstall the Left Panel (#1) onto the Top Panel (#3
Attach the Left Panel (#1) to the Top Panel (#3) g
the left picture shows. Line up screw holes and
tighten them using Screw Driver (#21) and three
of Screw F (#41).

Note: The outside edges of the panels should
flush, creating a nice square frame.

Step 2:Install the Right Panel (#2) onto the Top Panel (#
Attach the Right Panel (#2) to the Top Panel (#3)
the left picture shows. Line up screw holes and
tighten them using Screw Driver (#21) and three
of Screw F (#41).

Note: The outside edges of the panels should |
flush, creating a nice square frame.

Step 3:Install the Middle Layer Panel (#4).

Attach the Middle Layer Shelf (#4) as the left pict
shows. Use 6 pcs of Screw F (#41) to fasten the
Middle Layer Panel to the Left and Right Panel (4
and #2).




ASSEMBLY INSTRUCTIQNS 10
UltraHD Wall Cabinet (Model No. 20230)

Check for SQUARENESS by
using a triangular square Step 4 Install Bottom Panel (#5).

before attaching Back Panels Attach the Bottom Panel (#5) as the left pictu
shows. Use 6 pcs of Screw F (#41) to fasten
Bottom Panel(#5) to the Left and Right Pane
and #2).

Note: The outside edges of the panels sho
be flush, creating a nice square frame.

Step 5 Install the Bottom Back Panel (#8) and Upy
Back Panel (#7).

First place the Bottom Back Panel (#8) onto {
Left, Right and Bottom Panels (#1,#2 and #5
Top the left picture shows. Now place the Upper
Back Panel (#7) onto the Left, Right and Top
Panels (#1, #2 and #3). Line up screw holes
tighten them using Screw Driver (#21) and 2!
pcs of Screw F (#41).

Bottom

Step 6 Fasten the Magnet (#23).
Fasten 2 pcs Magnets (#23) seperately to the
Top Panel (#3) and Middle Layer Panel (#4)
4 pcs of Screw F (#41).

Note: The side with the pad on the magnet need to
face outward.




ASSEMBLY INSTRUCTIQgNﬁflo)
UltraHD Wall Cabinet (Model N0.20230 )

Step 7 Install the Middle shelf (#6)
a. Decide the height for the Middle Shelf (#
place the Hooks (#34) into the hook slots 4
push down.

Note: The Middle Shelf (#6) needs 4 hooks at ea
corner for support. When placing the hooks
make sure they are at the same height.

b. Place the Middle Shelf (#6) into the cabi
and push down onto the Hooks (#34).

Step 8 Install the Left Door (#9)
Attach the Left Door (#9) on the Left Panel
(#1). Line up screw holes and tighten then
using Screw Driver (#21) and three pcs of
Screw B (#15).

Note: The oval screw holes on the door hinge all
adjustment of the Door Panel.

Step 9 Install the Right Door (#10)
Attach the Right Door (#10) on the Right Pan
(#2). Line up screw holes and tighten them u
Screw Driver (#21) and three pcs of Screw B
(#15).

Note: The oval screw holes on the door hinge allow
adjustment of the Door Panel.




ASSEMBLY INSTRUCTIQNS 10
UltraHD Wall Cabinet (Model No. 20230)

SHOP DRAWING TO INSTALL THE WALL HANGING BRACKET OF WALL CABINET (MODEL NO.#20230)

gD = 2 o)

| 14"(10.16crg)l4"(10.16cm) [47(10.1 "(10. 16¢ "(10.1 "(10.1 '(10.16: "(10.16cm)
To find the screw holes to fasten - 4
the Wall-Hanging Brackets, 3|3 .
please refer to the accompanying Bk 5

shop drawing. Place the shop
drawing on the wall and align the
holes in the drawing.

3

_14"(10.16cny)| 4°(10.16crp)| 4"(10.16¢my) ] 4°(10. 16¢rg)| 47(10.16¢m) | 47(10.16cm) | 47(10.16¢m) | 47(10.16cm) |

36" (91. 44cm)

NOTE:USING A STUD FINDER AND A LEVEL, WILL ENSURE THE HOLES ARE IN THE CORRECT LOCATION

*Drill a small hole (1/8" diameter) at stud locations to assure that the hanging anchor is secured.
Note: Using a stud finder and a level, will ensure the holes are in the correct location.

Put 12 pcs green Plastic Anchor (#59) into the Rdde. 12 pcs of Screw M (#55) to fasten Wdhging
Brackets (#11Hang the unit on the Wallanging Brackets (#11).

Hang Wall Cabinet Wall-Hanging Brackets

The wall cabinet can also be mounted on a brick, masonry, or basement block wall using the correct ¢
wall anchors, and screw set. Each wall anchor must support up to 25 Ibs loading capacity.




